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Across 

 

Down 

  1.  5,955 - 3,113 =  

  4.  4,366 - 3,384 =    

  6   6,551 - 6,493= 

  7.  5,900 - 4,225 =    

  8.  4,500 - 2,186 =  

10.  6,500 - 6,429 = 

12.  6,999 - 5,481 = 

14.  4,544 - 4,528= 

15.  7,588 - 7,570 = 

16.  7,444 - 6,910 = 

17.  4,880 - 4,790 = 

18.  8,333 - 8,281 = 

19.  8,000 - 6,528 =  

21.  7,222 - 4,437 =  

22.  3,321 - 2,701 = 

   1.  4,999 - 2,471 = 

  2.  3,000 - 2,117 =  

  3.  3,890 - 1,745 =  

  4.  3,332 - 3,235 = 

  5.  2,251 - 1,394 =  

  9.  5,503 - 4,339 = 

11.  5,990 - 4,510 = 

13.  4,999 - 3,485 = 

14.  5,500 - 4,173 = 

15.  7,090 - 5,168 = 

16.  4,111 - 3,559 = 

19.  3,800 - 3,785 = 

20.  4,001 - 3,925 = 



 

Answers  

 

 


